
 

1. Simplify the following: 

 

a. (5𝑥ସ𝑦ହ)(2𝑥𝑦ଶ) 
b. (5𝑥 − 2)(4𝑥 − 3) 

c. (2𝑥ଶ + 3𝑥 − 4)(3𝑥ଶ − 4𝑥 + 2) 
d. 3(𝑥 − 2𝑦)ଶ − 2(𝑥 − 4𝑦)ଶ 

 

2. Factor the following: 

 

a. 𝑎ଶ − 10𝑎 − 24 
b. 4𝑎ହ𝑐ଶ + 8𝑎ଷ𝑐ଷ − 12𝑎ଶ𝑐଺ 
c. 6𝑥ଶ − 12𝑥𝑦 + 10𝑦 − 5𝑥 
d. 25𝑏ଶ − 81 
e. 9𝑥ଶ − 30𝑥𝑦 + 25𝑦ଶ 
f. (2𝑥 − 3)ଶ − 25 

g. 12𝑎ଶ + 5𝑎 − 2 
h. 𝑥ସ + 𝑥ଶ − 20 
i. 3𝑏ଶ − 3𝑏 + 18 
j. 7𝑥ଶ(𝑎 + 3𝑦) − 28𝑦ଶ(𝑎 + 3𝑦) 
k. 𝑥ସ𝑦ଶ + 3𝑥ଶ𝑦 − 28 
l. 20𝑥ଶ𝑦 + 20𝑥𝑦 − 240𝑦 

 

3. For what value(s) is the rational variable expression undefined? 

a. ൫ଷ௫యିଶ௫൯

(ଷ௫ାଵଷ)
 

b. ௫ିଶ

ଶ௫యି଼௫
 

 

4. Simplify the following: 

 

a. ቀ
ଶ௬ర

ହ௫
ቁ ቀ

ଵ଴௫మ

ସ௬య
ቁ 

b. ൫௫మିସ௫ାଷ൯

(௫మା௫ିଵଶ)
+

൫௫మା௫ି଺൯

(௫మାଶ௫ି଼)
 

c. ସ

௫ାସ
−

ଷ

௫ିଷ
 

d. ସ௔

଻௕య
+

ଷ

ଶଵ௔௕
 

e. ଷ(௫ିଵ)

௔మହ௔ା଺
−

ଶ

௔మି଺௔ା଼
 

5. Factor 

 

4𝑎𝑥ସ − 12𝑎𝑥ଷ − 64𝑎𝑥ଶ + 192𝑎𝑥 


